Office of the Executive Engineer Jal Shakil Department PHE Division, Shopfan. Government Jamma Kashmir (UT) Unice of the Executive Engineer Jal Shakti Department PHE Division, Snopsan.

Email :-xenpheshoplan@yahoo.in& xenpheshopain@gmail.com Phone /fgx:- 01933- 260248/260284. Name: . Ab Rashid Khan S/o Mohd Afzal Khan R/o Kaloosa Ward No. 11 Bandipora Regd. No CE/I&FC/Sgr/02/AAY(civil & Sanitary)/2021-22 email ID: GSTN: 01BJUPK2536D4ZD 9906491414 Allotment Order No. Subject:-BJUPK2536D Laying & Fitting of Delivery and Distribution Mains consisting of GMS Tubes and Ductile Iron Pipes of different Nominal Bores along with nine fittings and Ductile Iron Pipes of different Nominal Bores along with pipe fittings and control valves & Construction of 0.10 & 0.15 lac lac gallons Ground Service Reservoirs (GSR) and Execution of ancillary civil works. Execution of 0.10 & 0.15 lac lac gallons Ground Service Reservoirs (GSR) and Execution of 0.10 & 0.15 lac lac gallons Ground Service Reservoirs (GSR) and Execution of 0.10 & 0.15 lac lac gallons Ground Service Reservoirs (GSR) and Execution of 0.10 & 0.15 lac lac gallons Ground Service Reservoirs (GSR) and Execution of 0.10 & 0.15 lac lac gallons Ground Service Reservoirs (GSR) and Execution of 0.10 & 0.15 lac lac gallons Ground Service Reservoirs (GSR) and Execution of 0.10 & 0.15 lac lac gallons Ground Service Reservoirs (GSR) and Execution of 0.10 & 0.15 lac lac gallons Ground Service Reservoirs (GSR) and Execution of 0.10 & 0.15 lac lac gallons Ground Service Reservoirs (GSR) and Execution of 0.10 & 0.15 lac lac gallons Ground Service Reservoirs (GSR) and Execution of 0.10 & 0.15 lac lac gallons Ground Service Reservoirs (GSR) and Execution of 0.10 & 0.15 lac lac gallons Ground Service Reservoirs (GSR) and Execution of 0.10 & 0.15 lac lac gallons Ground Service Reservoirs (GSR) and Execution of 0.10 & 0.15 lac lac gallons Ground Service Reservoirs (GSR) and Execution of 0.10 & 0.15 lac lac gallons Ground Service Reservoirs (GSR) and Execution of 0.10 & 0.15 lac lac gallons Ground Service Reservoirs (GSR) and Execution of 0.10 & 0.15 lac lac gallons Ground Service Reservoirs (GSR) and Execution of 0.10 & 0.15 lac lac gallons Ground Service Reservoirs (GSR) and Execution of 0.10 & 0.15 lac lac gallons Ground Service Reservoirs (GSR) and Execution of 0.10 & 0.15 lac lac gallons Ground Service Reservoirs (GSR) and 0.15 lac lac gallons Ground Service Reservoirs (GSR) and 0.15 lac lac gallons Ground Service Reservoirs (GSR) and 0.15 lac lac gallons Ground Service Reservoirs (GSR) and 0.15 lac lac gallons Ground Service Reservoirs (GSR) and 0.15 lac lac gallons Ground Service Reservoirs (GSR) and 0.15 lac lac gallons Ground Service Reservoirs (GSR) and 0.15 lac ancillary civil works like Construction of Bath Room/Renovation of Existing Chowkidar Quarter, at Water Supply scheme Kanikoot Ringward of Division Shopian of Kashmir Province of UT of J&K, under Jal Jeevan Mission References: 1. This office Fresh E Nit No 27/JSDS of 2022-23 Dt -27 08 2022 (\$ No 24) 2. Minutes of meeting DJJM Shopian held on 07 11 2022 4. Accord of Administrative Approval Order No -CE/PHE/DB/129 OF 02/2021 DT -19 02 2021 issued by Chief Engineer Jal Shakti (PHE) Department Kashmii vide No CE/PHE/DB/27092-27100 Dt -19 02 2021 5. This office 1. O.1 NO - JSDS/3882-86 Dated 07 11.2022. 6. Technical sanction order No. 21 Dt -20 08 2022 issued by Superintending Engineer Hyraulic Circle Shopian/Pulwama HO Shopian vide No. vide No.-Se/Hyd/Spn/3050-52 Dt -20 08 2022 Description of Work / Item(s) No.of Qty Units Earth work in excavation by manual means in trenches for foundations, drains pipes, cables etc. (not exceeding 1.5 m in width) and for shafts, wells, cesspits and the like not exceeding 10 sqm on plan, including dressing of sides and ramming of bottoms lift upto 1.5 m, including getting out excavated earth and disposal of surplus excavated earth as directed:All kinds of soil:1 meter from cutting edge. By mechanical means 3415.599 252.05 ₹ 8,60,901.73 By manual means ₹ 9,92,800.78 2277.066 436 cum Laying in position centrifugally cast (spun) iron S&S or flanged pipes (excluding cost of pipe).300/150/100mm dia D.I pipe 1767.38 Otl 245.55 ₹ 4,33,980.16 Providing push-on-joints to Centrifugally (Spun) Cast Iron Pipes or Ductile Iron Pipes including testing of joints and including the cost of rubber gasket. ₹ 0.00 3 1 300 mm dia 309 340.25 ₹ 1,05,137.25 each 3.2 150 mm dia 636 ₹ 92,029.20 each 144.7 3.3 100 mm dia 36 89.7 ₹ 3,229,20 each Laying and fitting of G.I. pipes (all classes) complete excluding cost of pipes fittings and Earth work ₹ 0.00 4.1 80 mm dia. Gl pipe mtr 73.05 ₹ 1,46,100.00 4.2 65 mm dia. Gl pipe 1420 mtr 73.05 ₹ 1,03,731.00 43 50 mm dia. Gl pipe 1350 mtr ₹ 55,080,00 4.4 40 mm dia. Gl pipe 1280 mtr 40.8 ₹ 52,224.00 25 mm dia. Gl pipe 1470 mtr 30.65 ₹ 45,055,50 4.6 20 mm dia. Gl pipe 1800 20.25 ₹ 36,450.00 mtr Making connection of G.I. distribution branch with G.I. main of following sizes by providing and fixing Tee, including cutting and threading the pipe etc. ₹ 0.00

Head Draftsman

Technical Officer

executive ingineer

No1-JSDS/6/71-75 011-/13-03-2023

5.1					
5.2	25 to 40 mm nominal bore	-			
		13.00	each	₹ 666.25	₹ 8,661.25
6		4.00	each	₹ 1,268.75	₹ 5,075.00
6.1	Providing and fixing C.I. sluice valves (with cap) complete nuts, rubber insertions etc. 300 mm dia.(Class I)	4.00	cacii	(1,200	₹ 0.00
6.2	150 mm dia.(Class I)			₹21,118.35	2 84,473.40
6.3	100 pun di	4.00	each	₹ 6,508.50	₹ 26,034.00
	100 mm dia. (Class I)	4.00	each	₹ 4,597.85	₹ 18,391.40
7	Providing and fixing C.I. double acting air valve of approved quality with bolts, nuts, rubber insertions etc. complete (The tall pieces, tapers etc. if required will be paid)	° 6,00	each	₹ 5,147.15	₹ 30,882.90
8	Providing and fixing gun metal gate valve with C.I. wheel of approved quality (screwed end):				₹ 0.00
8.1		and the same and the same and		1210665	₹ 14,439.90
8.2	80mm nominal bore	6.00	each	₹ 1,568.85	19,413.10
	65 mm nominal bore	6.00	each	₹ 1,568.85	(),113.10
9	Manufacturing/ fabrication and fixing of M.S surface box/chambers of size (0.60x0.60x0.75m) made out of 6mm thick MS sheet using 40x40x5mm angle fron for frame including cutting, botsting and fixing in position incl. all locking arrangements, handles hinges etc and applying priming coat of approved sizel primer. The job includes providing and laying of cement concrete 1:24 on the base of frame to be embedded in, including all sorts of carriages involved for the completion of the job. The job is to carried out as per the directions of Site-Incharge.complete job.	5.00	No.	₹11,660-60	¥ 55,000 00
10	Providing of FHTCs to every unconnected household including cost of 15mm to 20mm dia G.1 pipe for a length of 6 to 20 mtrs with G.1 fittings / specials incl. laying & fitting of pipes ,earth work in excavation and refilling. The job includes providing and fixing of Water Meters, complete job.	. 189.00	No.	₹ 3,850.00	₹ <i>7,27,65</i> 0.00
11	Supplying Installation, Commissioning and Testing of Electromagnetic Flow Meters of ISI/ reputed Make (.The item includes fabrication of M.S. tall pieces, flanges, nuts bolts, R.I. cloth etc, cutting of existing supply line, welding, wiring from panel board to site of installation complete as per requirement of site incl cost of RCC protective chamber of suitable size incl cost of M.S. covers, ladders etc. complete job.		\ <u></u>	₹ 29,700.00	₹ 0.00
11.1	150 mm dia.	5.00	No.	₹ 25,300.00	₹ 1,51,800.00
11.2		6.00	No.	(25,500,00	
12	Earth work in bulk excavation by manual/ mechanical means (hydraulic excavator) over areas (exceeding 30 cm in depth, 1.5 m in width as well as 10 m2 on plan) in the plan of			,	₹ 0.00
	directed by Engineer-in-Charge.All kinds of soil:	114.62	cum	₹ 188.75	₹ 21,633.77
12.1	By mechanical means	7 171.92	cum	₹ 539.35	₹ 92,727.21
12.2	By manual means Providing & laying of stone soling hand packed in trenches.(Nallah)	22.63	cum	₹ 616.40	₹ 13,949.13
13	Providing and laying in position cement concrete of specified grade including curing	. 12.31	cum	₹4,861.84	₹ 59,849.19
15	to excluding the cost of centring and stone aggregate 40 mm nominal size) Providing and laying in position specified grade of reinforced cement concrete including curing but excluding the cost of centering, shuttering, finishing and reinforcement. Allworks upto plinth level:1:1½:3 (1 cement: 1½ coarse sand: 3 graded stone aggregate 20 mm nominal size)	20.33	cum	₹7,800.76	₹ 1,58,589.45
6	Reinforced cement concrete work in walls (any thickness) including attached pilasters, buttresses, plinth and string courses, fillets, columns, pillars, piers, abuttments, posts and struts upto floor five level including curing but excluding cost of centering and reinforcement: 1:1½3 (I cement: 1½ coarse sand: 3 graded buttering finishing and reinforcement: 1:1½3 (I cement: 1½ coarse sand: 3 graded).	₹ 33.15	cum	₹ 9,408.14	₹ 3,11,879.68
7 .	Reinforced cement concrete work in beams, suspended floors, roofs having slope upto 15°, landings, balconies, shelves, chajjas, lintels, bands, plain window sills, staircases and spiral stair cases upto five level including curing but excluding the cost of centring, shuttering, finishing and reinforcement with: 1:1½:3 (1 cement: 1½ coarse sand: 3 graded stone aggregate 20 mm nominal size)	6.98	cum	₹ 9,849.35	₹ 68,748.43
8	Reinforced cement concrete work in arches, archribs, domes, vaults shells, folded plate and roofs having slope more than 15° upto floor five level level including curing but excluding the cost of centering, shuttering finishing and reinforcement with: 1:1½:3 (1 content : 1½ coarse sand : 3 graded stone aggregate 20 mm nominal size)	9.04	cum	₹ 10,404.52	₹ 94,056.8

101- (SDS/6171-75 071-/13-03-2023

	Centering and shuttering including strutting, propping etc. and removal of form Foundations, footings, bases of columns				
1	for: for:				
	Foundations, footings, bases of columns etc. for mass concrete. Walls (any thickness)				
2					
	Walls (any thickness) including attached pilasters, buttresses, plinth and string	12.51	sqm	262.3	2 1.281.37
	courses etc.				
.3	outresses, plinth and string	***		573.85	2,37,223.85
	Lintel, beams, plinth beams, and the second	413.39	edm	3/3.83	(2,51,225.05
2.4	Lintel, beams, plinth beams, girders, bressumers and cantilevers	***************************************			₹ 12,908.16
	Arches, domes, vaults upto 6 m span	25.67	sqm	502.85	₹ 12,908.10
9.5		90.41	sqm	2086 A	£ 1,88,667.59
	Suspended floors, roofs, landings, balconies and access platforms	2071			
	and access platforms.	18.81		635.6	£ 12,673.86
9.6		19.91	sqm	855.0	(12,075.00
•	Edons of alaba				
	Edges of slabs and breaks in floors and walls: Under 20 cm wide.	28.04	mtr	242.3	₹ 6,794.09
		20.04			
0	Extra for shuttering in circular work (20% of respective centering and				1000
0.1	Situation (items).				
0.1	Foundations, footings, bases of columns etc. for mass concrete.	12.51	sqm	52.46	₹ 656.27
.0.2	Walls (any thickness) including attached pilasters, buttresses, plinth and string	364.38	sqm	114.77	₹ 41,819.89
20.3	courses etc	16	sqm	100.57	₹ 1,609.12
20,4	Lintel, beams, plinth beams, girders, bressumers and cantilevers.	89.53	sqm	1008.45	₹ 90,286.53
21	Extra for arches, domes, vaults exceeding 6 m span Steel reinforcement for R.C.C. work including straightening, cutting, bending,	- 07.55			
	placing in position and binding all complete upto plinth level: Thermo-	7248	kg	87.175	₹ 6,31,844.40
	Mechanically Treated bars of grade Fe-500D or more.				
22	Structural steel work in built up sections, trusses and framed work, including				- 0 17 (00 06
	cutting, hoisting, fixing in position and applying a priming coat of approved	3110	kg	102.135	₹ 3,17,639.85
	steel primer all complete.Welded				
23	12mm Cement plaster finished with a floating coat of neat cement of mix: 1:4	413.39	sqm	325.45	₹ 1,34,537.78
	(1 cement : 4 fine sand).				
24	Providing & fixing of ventillator/lighting arrangement on the top of dome of				
	size (0.50v0.50 m) with 40x40x5mm angle iron base frame of 1m height littled	2	job	11000	₹ 22,000.00
	with 3mm mesh and fibre glass around the base incl. all ffattings and fixtures and all sorts of carriages involved for the completion of job.complete job.				
25	Providing and laying in position cement concrete of specified grade including	,			₹ 49,994.93
	curing but excluding the cost of centring and shuttering. All work upto plinth level with: 1:3:6 (1 cement: 3 coarse sand: 6 graded stone aggregate 40 mm	9.26	cum	5399.02	₹ 49,774.73
	nominal size)		Į.	·	
<u> </u>	B idia a word work in frames of doors windows, clerestory windows and				
26	the former wrought framed and fixed in position with hold last lugs of with			106894.15	₹ 15,392.76
	dash fasteners of required dia and length (hold fast lugs or with wash fasteners	0.144	cum	100094.13	(15,572.75
	shall be paid for separately):first class kail wood				
	U. L. and glozed shutters for				
27	Providing and fixing panelled or panelled and glazed shutters for doors, windows and clerestory windows fixing with butt hinges of required size				Į
	evaluating panelling which will be paid for separatory, and	4.74	sqm	3093.8	₹ 14,664.61
	late of per direction of Engineer-in-Charge, (Note, -Butt linges and		-,		1
	necessary screws shall be paid separately). 35mm thick.First class kail wood				
			\vdash		
28	Providing and fixing wire gauze shutters using galvanized M.S. wire gauze of				
		1.72	com	3651.65	₹ 6,280.84
	for doors, windows and clerestory windows with ISI marked M.S. pressed butt hinges bright finished of required size with necessary screws as per direction of	1.72	sqm		
	hinges bright finished of required size with necessary Engineer-in-charge :First class kail wood.35mm thick				
			-		
29	Providing and laying Ceramic glazed floor/wall tiles 300x300 mm (thickness to		1		
_,				Asher the second	
		26.75	sqm	1052.75	₹ 28,161.
	coarse sand) including pointing the Johns With Miles (Fey, Fey, Fey, Fey, Fey, Fey, Fey, Fey,				
	floor	1	100	- The state of the	STATE OF THE PARTY

Executive ingineer

13-03-2023

39.8	Add Quoted/Accepted percentage			otal Schedule Va D 2%	*************************************
	Bricks		T	otal Schedule Va	line 4 00'00'
		3,433.0	- 1.0		lue ₹ 85,85,0
39.6	Stone soling	3,435.0	0 No	₹ 0.65	₹2,232.75
39.6	Sand & Stone aggregates	22.63	cum	₹410.00	₹ 9,278.30
39.4	steel	141.51		₹348.51	₹ 49,317.65
39.3 39.4	cement	7.20	M.T	₹ 377.69	₹ 2,719.37
39.2	100 mm dia D.I PIPES	35.64	M.T	₹ 175.84	₹ 6,266.94
39.1	150 mm dia D.I PIPES	200.00		₹ 5.98	₹ 1,196.00
20.1	300 mm dia D.I PIPES	7 1,700.00 7 3,500.00	mtr	₹ 8.43	₹ 29,505.00
39	means (Head load) for an avg lead of 200 mtrs.	= 1.700.00	mtr	₹21.83	₹37,111.00
38.8	Firth Carriage of material from dumping site to actual site of work by manual				₹ 0.00
38.7	Bricks 45km	¹ : 3,435.00	cum	V 1.73	
38.6	1- 11 101	22.63	cum	₹ 1.73	₹ 5,925.38
38.5	Sand & Stone aggregate for an avg. lead of 45km	₹ 141.51	cum	₹ 331.85	₹ 7,509.77
38.4	County and steel from divi Store for an avg lead of 10 km	£ 42.84	MT	₹ 653.52	₹ 92,479.62
38.3	100 and die G. I nines from Divisional stole for all avg. lead of	7. 52.60	M.T	₹ 250.74	₹ 10,741.70
38.2		₹ 200.00	mtr	₹ 6.16 ₹ 250.74	₹ 13,188.92
38.1	300 mm dia D.I PIPES from Divisional store for an avg. lead of 10 KM 150 mm dia D.I PIPES from Divisional store for an avg. lead of 10 KM	3,500.00	mtr	₹ 10.27	₹1,232.00
	Transport including loading, unloading, stacking etc: 300 mm dia D.I PIPES from Divisional store for an avg. lead of 10 KM	₹1,700.00	mtr	₹ 20.89	₹35,945.00
38	deposited layer by ramming and watering, read upon grade by Mechanical Carriage of material from different sources to dumping site by Mechanical		\vdash	7.00.00	₹ 35,513.00
					₹ 0.00
3"					
37		₹ 5,123.40	cum	₹ 198.70	₹10,18,019.28
30					
36	The strain of 90 mm dia PVC drainage system with specified personal	< 1.00	job	₹ 55,000.00	())()()()
					₹ 55,000.00
	among and making necessary holes for filler, outlet and over-				
35		1,000.00	iter cap	₹ 11.25	₹11,250.00
	in the same on torrace (at all 1100) levels i polyculyiche mate				# 11 260 CO
34.6			-		
	1.970 kg Providing & fixing of sanitary items like, a soap case and a towel	. 1.00	job	₹ 5,500.00	₹ 5,500.00
	. 252				
4.5	Providing and fixing 15 mm nominal bore of standard back type C. standard back type C. standard hole basin mixer pillar tap of approved quality and make, weighing not less than	1, 2,00	each	₹ 2,207.60	4,413.20
	make conforming to IS: 8931 Providing and fixing 15 mm nominal bore of standard back type C.P. brass close Providing and fixing 15 mm nominal bore of standard back type C.P. brass close			-00000	₹ 4,415.20
4.4	Providing and fixing 15 mm nominal bore C.P. brass angle valve of approved	, 4.00	each		
11	good the walls whereever required (450 x 300 mm).	400	each	₹ 536.10	₹ 2,144.40
	fittings and brackets, incl cost of waste pipe, angle valves, cutting and making				
7.5	Froviding and fixing of wash basin vitreous china of 131 mark. The control	1.00	each	₹ 3,850.00	63,890.00
4.3	Providing and fixing of wash basin vitreous china of ISI mark incl cost of				£ 3,850.00
4.2	Proxiding and fixing brass bib cock of approved quality 15 mm nominal bore	7.00	each	7 318.85	(2,231.93
	including cutting and making good the walls etc. 15 mm dia. nominal bore	* 50 00			2,231.95
4.1	Providing and fixing G1 pipes complete with G1. fittings and clamps,		mtr	₹ 431.10	£ 21,555.00
4	Providing of fixing of sanitary items as under.				₹ 0.00
	brackets, gates & similar works.				40.00
	structural steel etc. as required. In gratings, frames, guard bar, ladders, railings,	610.50	kg	2 140.03	
	Traing in position and applying a priming cost of approved steel primet using			2 146 63	£ 89,517.62
3	Steel work welded in built up sections/framed work including cutting, horsting.				
	Bathroom	, 5.57			
		6.87	cum	27,476.38	2 51,362 73
•	Brick work with common burnt clay F.P.S. (non-modular) bricks of class designated 75 in superstructure in Common burnt clay F.P.S.				
2	charge complete job.				
	finished form and is to be carried out as per the directions of site in charge complete inh				
	ends etc. The work should be leak proof. The job is to be paid in fitted and finished form and is to be carried out as execution.	021.00			
	yarn with insertion of spun yarn including welding charges, cutting threading ends etc. The work should be leak proof. The including threading	9 824.00	kg	₹ 148.00	1,21,952.00
7	M.S plate as per the requirement of site. This item also includes cost of spun with insertion of spun yarn including melding melding.				
	This plate as per the requirement of the providence of the provide				
	Collars, tail pieces of evitate and strongs viz bends. Tees nipples double		-		
			,00	(13,200.00	
	The satisfaction of the state o	1.00	iob	£ 13,200.00	£ 13,200 00
					and the second second second
	construction of Soakage pit 10 mtrs deep, one mtr Diameter including providing /fixing of pre cast reinforced concrete rings and top precast cover at site as per the satisfaction of Engineer In charge complete job.				

& Con	litions
de Com	litions The cost of work should in no case exceed beyond Rs. 87.57 lacs/= (Rupees Eighty seven lacs fifty seven thousand (Infy)
/	The overall payment under the contract will be restricted to DAP/DPR provision.
/	The overall payment under the contract will be restricted to DAP/DPR provision. This letter of allotment & your tender will constitue a legal contract document and the conditions laid down in the detailed Nff/Form No 25 double will hold good and hinding upon you.
3	This letter of allotment & your tender will constitue a legal contract document and the conditions rate as
	down of agreement
	You have to attend the Divisional/Circle Office along with your enlistment card for drawl of agreement. However non-drawl of agreement will not prevent the contract from being enforced upon you.
4	You have to attend the Divisional/Circle Office along with your enlistment card for diameters.
•	will not prevent the contract from being enforced upon you.
	will not prevent the contract from being enforced upon you. Performance security deposited by you vide Bank Guarantee for an amount of Rs. 257550 /- (Rupees two lac fifty seven thousand five hundred fifty Only) through The Punjab National bank vide Reference No. 991600 dated 13.03.2023 as security deposit shall be hundred fifty Only) through The Punjab National bank vide Reference No. 991600 dated 13.03.2023 as security deposit shall be released only after successful completion. & expiry of DLP of the work.
5	Performance security denosited by you vide Bank Guarantee for an amount of the State of the Stat
5	bundred fifty Only) through The Punjab National bank vide Reference (1887)
	hundred fifty Only) through The Punjab National bank vite Action of the National bank vite Action o
	week from the date of issuance of the IZIICOMME
6	The date of start of work shall be reckoned within one week from the
v	of LOF or allotment
	150) days from the date of issuance of
	wheted within a period of one hundred fifty (130) 307
7	The work shall have to be completed within a period of one hundred fifty (150) days from the date of issuance of LOI or allotment mentioned above whichever is earlier. The work be executed strictly in accordance with approved proposals & in close supervision of the Engineer I/C of both wings of Civil as the last Mechanical.
	mentioned above whichever is carnet.
	its approved proposals & in close supervision of
	The work by executed strictly in accordance with approved
8	The work be executed strictly in accordance with approved proposals & in the work for a period of 03 months during which the well as Mechanical. After testing and commissioning of work, the bidder will have to make a trial run of the work for a period of 03 months during which the well as Mechanical. After testing and commissioning of work, the bidder will have to make a trial run of the Department. After testing and commissioning of work, the bidder will have to the full satisfaction of the Department. After testing and commissioning of work, the bidder will have to the full satisfaction of the Department. After testing and commissioning of work, the bidder will have to make a trial run of the work for a period of 03 months during which the well as Mechanical.
	Well do with the bidder will have to make a that well entification of the Department.
9	After testing and commissioning of work, the bidder will have to make a trial run of the work to be perturnent. After testing and commissioning of work, the bidder will have to the full satisfaction of the Department. bidder will have to operate and maintain the executed work to the full satisfaction of the Department. The bidder will have to operate and maintain the executed work which shall commence after the successful completion of Trial run. bidder will have to operate and maintain the executed work which shall commence after the successful completion of Trial run. bidder will have to operate and maintain the executed work which shall commence after the successful completion of Trial run. bidder will have to operate and maintain the executed work which shall commence after the successful completion of Trial run. bidder will have to operate and maintain the executed work which shall commence after the successful completion of Trial run. bidder will have to operate and maintain the executed work to the full satisfaction of the DLP for such time as deemed fit for
,	bidder will have to operate and manner of 12 Months which shall committee to make the first of 12 months which shall committee to make the first of 12 months which shall committee the first of 12 month
	After testing and commissioning of work, the bidder will have to make a trial run of the Department. After testing and commissioning of work, the bidder will have to make a trial run of the Department. After testing and commissioning of work, the bidder will have to operate and maintain the executed work to the full satisfaction of the Department. The defects Liability period shall be for a period of 12 Months which shall commence after the successful completion of DLP. In case The defects Liability period shall be for a period of 12 Months which shall commence after the successful completion of DLP. In case The bidder shall be responsible to make good & remedy at his own expense any defect in works which is noticed during the DLP for such time as deemed fit for the bidder shall be responsible to make good & remedy at his own expense any defect in works which is noticed during the DLP for such time as deemed fit for the bidder shall be responsible to make good & remedy at his own expense any defect in works which is noticed during the DLP for such time as deemed fit for the bidder shall be responsible to make good & remedy at his own expense any defect in works which is noticed during the DLP for such time as deemed fit for the bidder shall be responsible to make good & remedy at his own expense any defect in works which is noticed during the DLP for such time as deemed fit for the bidder shall be for a period of 12 Months which shall commence after the successful completion of Trial run.
10	The hidder shall be responsible to make good on the completion of DLP, the department
	The bidder shall be responsed by the firm at the completion of any defect remains unattended by the firm at the completion of any defect remains unattended by the firm at the completion of any defect remains unattended by the firm at the completion of the correctness of the positions, levels, getting the defect rectified subject to a maximum ceiling of 6 Months.
	getting the defect rectified subject to a management of the correctness of the period of the correctness and labour in connection
	the time and proper setting out of all the cessary instruments, appliances and
	The bidder shall be responsible for the time and proper setting out of all the works and for the correctness of the positions, levels, getting the defect rectified subject to a maximum ceiling of 6 Months. The bidder shall be responsible for the time and proper setting out of all the works and for the correctness of the positions, levels, the bidder shall be responsible for the time and proper setting out of all necessary instruments, appliances and labour in connection dimensions and alignment of all parts of the works and for the provision of all necessary instruments, appliances and labour in connection dimensions and alignment of all parts of the works and for the provision of all necessary instruments, appliances and labour in connection dimensions and alignment of all parts of the works and for the provision of all necessary instruments, appliances and labour in connection dimensions and alignment of all parts of the works and for the provision of all necessary instruments, appliances and labour in connection dimensions and alignment of all parts of the works and for the provision of all necessary instruments, appliances and labour in connection dimensions.
11	dimensions and alignment of all parts of the
	The bidder shall be responsible to the works and for the professional dimensions and alignment of all parts of the works and for the professional therewith. The rates are including the Charges for Submission of progress, Geo-tagged photographs, vediographic record through the professional therewith. The rates are including the Charges for Submission of progress, Geo-tagged photographs, vediographic record through the professional through the profession through the professional through the professional through the
	The rates are including the Charges for Submission of progress, Geo-tagged photographs, vedlographic Vedlogra
	The rates are including the Charges to our the charges are proved in some control of the charges to our the charges are including the Charges to execute work, preparation of this second proving account bills.
12	person before, during & after constition. Preparation of work absulate the deducted at source from lumining
	Level / ETS before and after CASES viz. GST/Income tax/Cess etc. same
	The rates are including the Charges for Submission and progress reports in both hard and work, preparation of bills besides, upperson before, during & after construction and progress reports in both hard and work, preparation of bills besides, upperson before, during & after construction of work abstract of executed work, preparation of bills besides, upperson before, during & after construction of work abstract of executed work, preparation of bills besides, upperson before and after execution. Preparation of work abstract of executed work, preparation of bills besides, upperson before, during & after construction and progress reports in both hard and work, preparation of bills besides, upperson before, during & after construction and progress reports in both hard and work, preparation of bills besides, upperson before, during & after construction and progress reports in both hard and work, preparation of bills besides, and the present the progress reports in both hard and work, preparation of bills besides, and the preparation of work abstract of executed work, preparation of bills besides, and the preparation of work abstract of executed work, preparation of bills besides, and the preparation of work abstract of executed work, preparation of bills besides, and the preparation of work abstract of executed work, prepar
	are inclusive of taxes and taxes are inclusive of taxes. As a second of taxes are inclusive of taxes are inclusive of taxes and taxes are inclusive of taxes are
	thing and other works shall be strictly
	All the Cement, R.C.C, Steel, plumbing and other norms/requirements/specifications and normal PWD practices. You shall be solely responsible for carrying out the mandatory tests required or as decided by Engineer-in-charge for the quality control at You shall be solely responsible for carrying out the mandatory tests required or as decided by Engineer-in-charge for the quality control at You shall be solely responsible for carrying out the mandatory tests required or as decided by Engineer-in-charge for the quality control at You shall be solely responsible for carrying out the mandatory tests required or as decided by Engineer-in-charge for the quality control at You shall be solely responsible for carrying out the mandatory tests required or as decided by Engineer-in-charge for the quality control at You shall be solely responsible for carrying out the mandatory tests required or as decided by Engineer-in-charge for the quality control at You shall be solely responsible for carrying out the mandatory tests required or as decided by Engineer-in-charge for the quality control at You shall be solely responsible for carrying out the mandatory tests required or as decided by Engineer-in-charge for the quality control at You shall be solely responsible for carrying out the mandatory tests required or as decided by Engineer-in-charge for the quality control at You shall be solely responsible for carrying out the mandatory tests required or as decided by Engineer-in-charge for the quality control at You shall be solely responsible for carrying out the mandatory tests required or as decided by Engineer-in-charge for the quality control at You shall be solely responsible for carrying out the mandatory tests required or as decided by Engineer-in-charge for the quality control at You shall be solely represented by the control at You shall be solely represented by the control at You shall be solely represented by the control at You shall be solely represented by the control at You shall be solely represented by the contr
13	All the Cement, No. 10 All the Solely responsible for carrying out the mandatory tests required or as decided by Engineer-in-charge for the quality control of the Cement, No. 10 All the Solely responsible for carrying out the mandatory tests required or as decided by Engineer-in-charge for the quality control of the Cement, No. 10 All the Cem
	ice out the mandatory tests required or as decided to have been included in
	Now shall be solely responsible for carrying out the shall be borne by the contractor and shall be solely responsible for carrying out the shall be borne by the contractor and shall be solely responsible for carrying out the shall be borne by the contractor and shall be solely responsible for carrying out the shall be borne by the contractor and shall be solely responsible for carrying out the shall be borne by the contractor and shall be solely responsible for carrying out the shall be some shall be solely responsible for the shall be solely responsible for the shall be solely responsible for the shall be shall be solely responsible for the shall be shall be solely responsible for the shall be
14	your own costs. The cost of conducting all tendered. Nothing extra snall be payed.
	You shall be solely responsible for carrying out the mandauly to the contractor and shall be deemed to your own costs. The cost of conducting all tests shall be borne by the contractor and shall be deemed to your own costs. The cost of conducting all tests shall be borne by the contractor and shall be payable on this account. For various items of work and percentage rate tendered. Nothing extra shall be payable on this account. You have to furnish the confirmatory survey, structural & functional design including geo-technical analysis, soil investigation, and qual for the confirmatory survey, structural & functional design including geo-technical analysis, soil investigation, and qual for the confirmatory survey, structural & functional design including geo-technical analysis, soil investigation, and qual for the confirmatory survey, structural & functional design including geo-technical analysis, soil investigation, and qual for the confirmatory survey, structural & functional design including geo-technical analysis, soil investigation, and qual for the confirmatory survey, structural & functional design including geo-technical analysis, soil investigation, and qual for the confirmatory survey, structural & functional design including geo-technical analysis, soil investigation, and qual for the confirmatory survey, structural & functional design including geo-technical analysis, soil investigation, and qual for the confirmatory survey, structural & functional design including geo-technical analysis, soil investigation, and qual for the confirmatory survey, structural & functional design including geo-technical analysis, soil investigation, and qual for the confirmatory survey.
	structural & functional design including geometry structural & functional design including geometry. The vetting charges for the NIT. The vetting charges for the design.
	You have to furnish the confirmatory survey, and by DIQC as per terms & conditions of the survey of
15	You have to furnish the common devel duly vetted by DIQC as per terms of control tests done at your level duly vetted by DIQC as per terms of the borne by you. The allotted works shall be subject to check by the third party monitoring agency (TPIQM) appointed by the Department. The agency is become by you. The allotted works shall be subject to check by the third party monitoring agency (TPIQM) appointed by the Department. The agency is because of the purpose of machinery installed in the purpose of monitoring and evaluation of the purpose of
	control tests done at your covered by the control tests done at your covered by you. The allotted works shall be subject to check by the third party monitoring agency (TPIQM) appointed by the Department. The agency of the allotted works shall be subject to check by the third party monitoring agency (TPIQM) appointed by the Department. The agency of the allotted works shall be subject to check by the third party monitoring agency (TPIQM) appointed by the Department. The agency of the allotted works shall be subject to check by the third party monitoring agency (TPIQM) appointed by the Department. The agency of the allotted works shall be subject to check by the third party monitoring agency (TPIQM) appointed by the Department. The agency of the allotted works shall be subject to check by the third party monitoring agency (TPIQM) appointed by the Department. The agency of the allotted works shall be subject to check by the third party monitoring agency (TPIQM) appointed by the Department. The agency of the age
	The allotted works shall be subject to check by the third party monitoring agency (TPIQM) appointed on the allotted works shall be subject to check by the third party monitoring agency (TPIQM) appointed on the check the quality of works executed by the agencies, quality of materials used for construction and quality of machinery installed in check the quality of works executed by the agencies, quality of materials used for construction and quality of machinery installed in check the quality of works executed by the agencies, quality of materials used for construction and quality of machinery installed in check the quality of works executed by the agencies, quality of materials used for construction and quality of machinery installed in check the quality of works executed by the agencies, quality of materials used for construction and quality of machinery installed in check the quality of works executed by the agencies, quality of materials used for construction and quality of machinery installed in check the quality of works executed by the agencies, quality of materials used for construction and quality of machinery installed in check the quality of works executed by the agencies, quality of materials used for construction and quality of machinery installed in check the quality of works executed by the agencies, quality of materials used for construction and quality of machinery installed in check the quality of works executed by the agencies, quality of materials used for construction and quality of machinery installed in check the quality of works executed by the agencies, quality of materials used for construction and quality of works executed by the agencies of the check the quality of t
	The allotted works shall be subject to the agencies, quality of materials use persentative for the purpose of monitoring and
16	
	scheme. The TPIQM's role shall be that of all destroyed scheme. The TPIQM's role shall be that of all destroyed scheme. The TPIQM's role shall be that of all destroyed scheme. The TPIQM's role shall be that of all destroyed scheme. The TPIQM's role shall be that of all destroyed scheme.

NO1-7505/6171-75 DAI/13-03-2023

5 of 6

17	Any item of work not included in the BOQ but required for the completion of the work, shall be executed by the contractor, as directed by such item does not figure in Levy cash. Levy cash all be paid at J&K SSR 2020 rates with allotted expressions/depressions of the contractor. In cash
	authority.
18	No price escalation will be paid for complete a first
19	No price escalation will be paid for completion of the work within stipulated time or extended date of completion due to any reason.
20	No extra claim towards any type of tax, freight, etc shalf be entertained whatsoever.
	advance shall be paid
21	Retention money/Security deposit shall be 10% of the contract value. The Security Deposit is to be recovered at the rate of 10% of bill amount from Running Account Bills and shall be released after completion of the defect liability period.
22	In the event of allottee failing, declining, neglecting or delaying the supplies / works or in the event of any damage occurring or being caused by the allottee or in the event of any default or failure by the allottee in complying with any of the terms and conditions of the contract, the Department shall with or without prejudice to any other remedies available to it under any law for the timebeing enforce in the UT: a) Terminate the contract after 07 days' notice and/or b) Recover the amount of loss caused by damage, failure or default, as may be determined by the department and/or c) Recover the extra cost, if any, involved in allotting contract to other party and/or d) Impose Liquidated damages on account of delay beyond the schedule completion period to the tune of 0.5% of the delayed portion of contract every week but not exceeding 10% value of the contract and/or e) Forfeit the performance security and blacklist the firm
23	All risks of loss or damage to physical property and of personal injury and death which arise during and in consequence of the performance of the Contract are the responsibility of the Bidder.
24	Any failure or commission to carry out the provision of the contract shall not give rise to any claim by the department or bidder one against the other if such failure of commission arises from the 'ACT OF GOD' which shall include all natural calamities such as fires, floods, carthquake, hurricane, strikes, riots, embargoes or from any political or other reasons beyond the control of the parties including war, or a state of insurgency.
25	The bidder shall in connection with the work provide and maintain at his own cost all lights, guards, fencing and watching, when and where necessary or required by the Department for the protection of the work or safety and convenience of the Public etc.
26	From the commencement of the work to the completion thereof the same shall be under the bidders charge. The bidder shall be need responsible for and make good any loss or injuries by fire or other causes / theft and shall hold the Government harmless for any claims for injuries to persons or damage to property happening from any neglect, default, want of proper care and misconduct on the part of the bidder, or any of his employees, during the execution of work. The bidder shall be responsible for the compensation if any, to be a proper the existing labour laws of the country.
27	In the event of the death or insanity or insolvency or imprisonment of the bidder or where the bidder being a partnership or firm becomes dissolved or being corporation goes into liquidation, voluntary or otherwise, the contract may, in the option of the Engineer-in-charge, be terminated by notice in writing posted at the site of the works.
28	The damage caused to the work during execution or prior to actual completion of work/handing over of the project before defect liability period due to any natural calamity/human interference, the same shall be got restored/made good by you at your own cost.
29	No damage is caused to existing structures like roads, bridges, buildings or other public utilities as a result of construction of this work. Whereever any damage occures to any public/private infrastructure or public utility, the same shall be rectifed/made good by you at your own cost.
30	Adequate precaustions be taken for environment and social protection besides, all safety practices in vogue be strictly adhered to during execution of work.
31	No objection certificate from the concerned regulatory authority may also be sought wherever required.
32	All other terms & conditions will remain same as laid down in the original NIT /SBD/GFR-2017/ Procurement Manual 2019/Operation guidelines for JJM.

DE-13-03-2-023

Copy to the :-

Chief Engineer, Kmr. Jal Shakti (PHE) Department Srinagar for favour of information.

District Development Commissioner SShopian (Chairman District Jal Jeevan Mission) for information. 2

Superintending EngineerHydraulic Circle ShopianPulwam for favour of information. period and strictly in accordance with JJM 3

Assistant Executive Engineer, PHE Sub-Division Shopian for information & necessary action. He will ensure the completion of work within the stipulated time period and strictly in accordance with JJM Guidelines.

File concerned.